PTTERE AL )\




DECK FOUNDATION SUPPORTED WITH POSTS ON
CONCRETE PIERS SHALL HAVE FOOTINGS
(SIZED A5 REQUIRED PER LOTAL

SOIL LOAD BEARING CAPACITY;

WIN. 3000 PSI CONCRETE)

FLARED AT BOTTOM WHEM REGWRED

A MAXIMUM OF {2) GLASS ROOF PANELS (GRP'S)

MAY BE LOCATED IN EACH FCAM ROOF PAMEL,
MAXIMUM AND MINUMUM LCCATIONS AS SHOWM.

ATA

TYPICAL_PERIMETER CONCRETE TRENCH FOOTING
IN, 12" WIDTH x DEPTH PER LOCAL
CODE. TYPICAL {MIN. 3000 PSI CONCRETE)

AVR SUNROOM ENCLOSURE

HPARTS ALSD AVAILABLE FOR 4-5/B" AND 8 ROOF THICKNESS
PICTURL__DESCRETION, DRAWING ] [PiCTURE | oEscarmion PRAWNG §
5D HEADER SUPPORT 1=2078A
H i I £ GbGE Etku o218
H HD HEADER SUPPORT 1-2033
l RIDGE BEAM 1-0229
"7 |HEADER ARM 1-0214A &R
HEADER EZARING PLATE
— | &G STERL 8-2111
g Gy L1 |WALL POST SUPPCRT BRACKET [1-2053
H  |w suproat 1-20804
== |etass wom 101094
™ |h REINFORCING GALV. STEFL |8~2003
b |cLass necHr 16104
[:h’ Hb CORNER POST 1=20788
o= |SCREEN MEHNT i~0108c
L | conuer post cover 120814
= |SCREEN WIOTH 1—~G107A
L |up 2-1/2= ancie emacxer [1-208 Ty ———
O |[1-1/2° x 2° & 11 A Giuv. [a~0oss
L |z-1/2" angte pracxer B-2108A RECTANGULAR STEFL TUDE
HD HEADER REMMFORCEMENT
o | NG POST 12082 = |-|..:‘2N % 4" x 11 6o GV |s-0o0g0
-
1w post 1-2040 O |122" ALM. SQUARE TUBE  B-2022
— | waw post cap 1=2081 O |1.5° AUM. SOUARE TUBE  [1-020)
-
M1 | MASTER FRAME WEAD 1-0101C B |2 ouzoc s 1-0501
wev | uasTER Fraser suL 1=01028 [ m;_ i
2=/ A 2172 & 518
[a-0091
s | UASTER FRAME SIDE 1-01038 O [sed"niee
WALL POST REINFORCENENT, 2004
e | s 1-2088 1 |Ca. srin P
SASH STHE REINFORCEMENT,
: 0 | GALVANIZED STEEL [E-0028
g | 1-LTE FEUME 1-20874,
7l |37 GRP MALE TRAME 3K 10114
L1 |wal ExpANDER 1-0205 i
rF] |3" GRP FEMALE FRAME 3 [1-0115
Ll |fooR EXPANDIR 1-2058
= [1/2° x 5/8* ANGLE 0121
.
L1 | 1-3/4" rLo0R ExPANDIR  [1-2057C T |rvcm wo 1—oz09
it | PANEL CAF 1-2038 RIDGE POST TIL B-0115
: =] Dowa_STRAP, 6°
3 | AACA WING HORIZONTAL 1=2073 | B | wmcx posT BrACkET[a-2002
~REAM STELL STIFFENER
o | akca WG viRTICAL 1-2074 = | Sraap (Foe 3¢ I-BEAM owLyp [0%5!
wE |3, ROOT TORNER TiZ lo/N o117
[ |rasem, o= % 102388 Sou K *
PAKEL HAKGER, 3" K 1-0210 = =1 *_pAone
f =
h .e_ & Rmnfrrm mE * le/w a7189
1 | FOAM NNEEWALL TRIM 1=2044
Y |l-BeAw, 373 102178
1 1787 GLAZING STOP 21-2008
1 ]s/e” cLazvg sToP () 2-2008

(SINGLE SLOPE ROOF SHOWN — SEE SHEET 2 OF 11 FOR GABLE ROOF)

SUNROOM _ISCMETRIC

)

WRCLLLTTPIN

DRAWN BY: VHG
05-17-03
NTS

vERSION; E.1(10/25/10}

DATE:

SCALE;

P

0
CENCLOSURES, INC.

AN EMFPLOYEE OWNED COMPANY

[

720 E. HIGHLAND ROAD

MACEDONIA, OHIO 44058

THES RAKIKG IS THE PROPERTY OF PATIO

THE STAHDARD PLANS, ELEVATIONS, SECTIONS &
DETALS COMTAMED WEREW AR [N ACCORDARCE WM
DESTALLATION FROCEDURES ESTABLISHED EY PATIO
EMQOSURES NG, AND ARE FORt GEMERAL REFERENCE
SIT ISDAVIDUAL JOB SURWATTAL FOR SPECITIC
PEOJECTIONS, UNIT WIDTHS & WALL KEIGHTS,

ENCLOSURES, M2,

STANDARD
RESIDENTIAL
=| AVR DETAILS

sHEET | OF




L B SR

SLIDING SCREEN

AND LOCATION ILLUSTRATIVE
(ALL UNITS MAY VARY)

WALL POST-

SLIDING SCREEN

SLIDING DOOR

SLIDIRG WINDOW
‘ SLIDING SCREEN

SUIDING WINDOW
SUDING SCREEN

AVR SUNROOM FNCLOSUR

NOTE: DOOR & WINDOW DIRECTION m

=

e
Sl
o
| k]

o
z) o
af] =
=11 =
ol 3
in
oNLY. 11/ ||z
% i
o
el o
(=] "
efl o
ZH £
afla
SHa
[ w0

SUDING DOOR

—_—

~ SLIDING SCREEN ’

) VARIES

~12y, /2 W, ROOF PITCH

PLAN VIEW OF SINGLE SLOPE ROOF ENCLOSURE

EXISTING STRUCTURES

MAY REQUIRE MODIFICATION
FOR ATTACHMENT OF
SUNROOM ENCLOSURES

2-PANEL GLASS KNEEWALL (AS SHOWN)

IS MAX 8'-0" WIDE FOR SINGLE PANE
GLASS & 7'—6" WIDE FOR INSULATED GLASS,
1-PANEL KNEEWALLS ARE MAX 5'-0° WIDE
FOR SINGLE PANE & INSULATED GLASS

1/4-20 TEK SCREWS
SIZED FOR 37, 4=%"
& 67 ROOF PANELS
AS REQUIRED

# E]
10A10
Z #
#
# p
# I
#
#

FOAM XNEEWALLS ARE
MAX 8'—0" WIDE FOR
ALL AVR ENCLOSURES

ISO VIEW OF GABLE ROOF ENCLOSURE

HOTE:

BUILDING CODE REQUIREMENTS FOR WIND AND/OR SNOW LOADING CAM REDUCE
MAXIMUM DIMENSIONS OF DOOR & WINDOW UNITS & OVERALL ENCLOSURE
DIMENSIONS. CONSULT P.E.L ENGINEERING FOR LIMITATIONS.

3" 4-5/B OR 6 ROOF

SUNROOM _ELEVATIONS

T

NCED

T

*r

/N B

(A A — WALL ELEVATION

B B

WALL ELEVATION

\Z/AVR SUNROOM ENCLOSURE

Z/AVR SUNROOM ENCLOSURE

(CN _C

JEMPERED, 6lass PANEL {3° SHOWN)
T —GLASS_TRANSOM——3" - o & ———————BOTIOM OF PANEL— .
3% ALUM. CLAD FOAM TEMPERED GLASS 1/4~20 TEX %ﬁﬁi{%g@f ,‘3'_",’,‘-‘":,”3‘ GER AT MOUNTING T — 37 ALUM. CLAD FoAM
WING PANEL DOCR UNMTS SCREWS‘-S&ED FOR  —s11DING WINDOW —r - . - WING PANEL
3", " k&
ROOF PANELS ~ TGLASS ROOF PAWEL= N\ B O FXISTING GLASS WG PANEL
N 1 N,
* uinzlr"f 'JS'E; o, IR WL L B ¥ TEMPERED GLASS
Fag o 3%, 4-5/8" OR _ DCOR UNITS
T € ROOF PANEL — TRANSOM
il (5 SHOWH) f—— ——— | . HoowT @
aE “ALUNIN - 2s MAX. HEIGHT 24"
E/ e T — e | B hme o MAX, WIDTH 96"
% T emi—
=i £ —||¥ #
= —SUDNG—] , fl 7 —1— NG
[:T/E —WINDOW 7 # |— M, - POINT
A i A | = pook > HecHT
L e S —
# # ]\[ GRADE ZtFoau oR sLASSITk: #] ==
MAX, = = B
= booR——~| 20 GLASS XNEEWALL (MAX. 5"
A 2& WIDTH | FOAM KNEEWALL i .@ .@_ 1 £c WIDE FOR SINGLE PANELS,
F_ ol g 4 BEYOND 5' TO . 8 UIRES
Lo M¥_ & ] (WAX. & WiDE) L& ¥ T W R A& W b N d
DIENSION VARIES *| |__— DIMENSION VARES
— SEE ROCF SPAN CHARTS DIMENSION VAREES SEC ROOF SPAN. CHARTS

WALL ELEVATION

\2/AVR SUNROOM ENCLOSURE

3| |
glijals
éﬁgé
| é »
S
= 2o
ol 33
a—r [cpy
[~ e I
iR
5
825 8
4 I
ey gagtEg
Eggg sERELL
29z sgg
{edgls 235438
il Bl
13
eitEs nizn
-
o33
g5«
A< -
=z dw
g2 0
= 0
owwmE
L
Il

SHEET 2 oF




(2)-¢#8 x 1/2° TEK SCREWS
@ EACH I-BEAM
{1-0217B) LOCATION;

1/4-20 TEK SCREWS @ 36",

18" OR 12" 0.C. AS SPECIFIED

BY P.E.l. ENGINEERING:
(SEE DETAIL 7A/5)

0P & BOTTOM, _
"
e
5
- 12" OVERHANG 7/
1-02384 VERHANG 7]

089; WHEN SPECIFIED | _V \A™
Y P.EL ENGINEERING Ty /i
\

(2) #8 x 1/2* TEK '
SCREWS THROUGH EACH “
SIDE OF HEADER ,

SUPPORT (1-2079A) ™ s

INTO WALL POST

(1-2049) AT N

EACH GANGING \

LOCATION.

/

SUPPORT ({-20794)
{8 x 1/27 TEK SCREWS,

2) AT EACH I-BEAM, {1-0217B) LOCATION,
1) AT EACH END OF HEADER SUPPORT (1-2079A)

1-0101C

\I/
e
e

- AT GANGING LOCATION

(2)-#8 x 1/2" TEK SCREWS
THRU ONE SIDE OF EACH |-BEAM
(1-0217B) INTO HEADER ARM {1-0214A}

#8 x 1/2" TEK SCREWS, (2) AT EACH
1-BEAM, (1) AT EACH END OF HEADER

8-2111 AT GANGING LOCATIONS ONLY

#10 x 1-1/4" TEK SCREWS © MAX. 24" 0.C.
THROUGH HEADER SUPPORT (1-2079A)

TO STEEL TUBE (8-0089), AND (2) SCREWS
THROUGH BEARING PLATE (8-2111)

1/4—20 TEK SCREWS & 36",
18" OR 12" 0.C. AS SPECIFIED
BY P.E.l. ENGINEERING:

{00309; FOR 3" AFA ROOF
00310; FOR 4-5/8" AFA ROOF
00311; FOR B” AFA ROOF)

1--D23BA

(1) #10 x 2" TEK
SCREW AT EACH

N
AN\

3,

END OF MASTER
FRAME HEAD
{1-0101C) AND AT

MASTER FRAME HEIGHT

NS

18" 0.C. ALONG
\H‘gAan

—AT_UNIT_GANGINGS ON WOOD DEéK:

{2)- 3/8" DIAM. x 3—1/2':( LONG GALVANIZED
I

LAGS W/ WASHERS
—FLOOR_EXPANDER TO WOOD DECK:

1=01054
LN

1-01028
////F_ ™
\.

48 x 1/2" TEK SCREWS
@ 18" 0.C.; (2) ®@
UNIT GANGING & (2

1-2080A

KNEEWALL HEIGHT —'

-

ALUM, FLASHING ~. 1
LIP OF FLOOR EXPANDER

1-2056

EXTEND 1/2" BEYOND
_CK FOR WOOD DECKS

FLOCR JOISTS

(1-2056
DBL. HEADER/

/&ec\ HEADER OVER

sy 0IST HANGER
4 *1—~— SEE ANCHORING NOTES
WINDOW OVER FOAM

\3/

e
CORNER POST (1 —2330;\)

3" NOMINAL THICKNESS FOAM KNEEWALL

#8 x 1/2° TEK SCREWS @ 18" O.C.;
AND (2) © EACH GANGING;
TYP. AT EACH FACE OF WALL

3/4” PLYWOOD OR 0OSB SUBFLOOR

ALUM. FLASHING
DBL. HEADER —==__|

2" OVERHANG
1MAX,

(3" SHOWN)
1-0214A
1=2079A

(2) #8 x 1/2" TEK SCREWS
THROUGK EACH SIDE OF HEADER
SUPPORT {1-2078A) INTO WALL

3", 4-5/8" OR 6" ROOF PANEL

SUNROOM_DETAILS

5

32
¥ gy

e YR 06 2012

5

4,

*|@—— FLOOR JOISTS

X4

. [ JOIST HANGER

MAX POST (1-2049) AT EACH GANGING =
8-0089; WHEN SPECIFIED - LOCATION, (1) SCREW © 18" 0.C. |
BY P.E.I. ENGINEERING\ ALONG HEADER INTO I-LITE FEMALE |g&
I I\ {1-2087A), AND (2) SCREWS INTO |T
/3'2\"{1 CORNER POST (1-2078A) AT EACH |
#10 x 1-1/4" TEK SCREWS @ MAX, N \ END OF HEADER: TYP. AT EACH 2
24 0.C. THROUGH HEADER SUPPCRT, —7 !f N, FACE OF WALL -
(1-2079A) TO STEEL JUBE (B-008%),—' N =
AND (2) SCREWS THROUGH BEARING \ —2087A 2
PLATE (8-2111) AT’GANGING LOCATION TEMPERED GLASS 2
. 2-2006" ) { - be—— 12086 =
.o 2-2005 \\ J | ——1-0105A
220061/ TEMPERED GLASS
o 2-2005 4 /. /_

ANCHORING NOIES: - 1-0107—/\ | i
4 1-0101C 5

‘ i

==

=

[»)

a

z

LELAND INDUSTRIES GP FASTENERS; §10 x 2-INCH =
LONG SCREWS WITH DT—1700 COATING; STAGGER ]
SCREWS @ 18™ 0.C. ALONG FLOOR EXPANDERS, TYP. 1-01028 3
8

b Y

1-2086 — | \ I

TEMPERED GLASS ¥ \ z

[=]

")

\ . \ 2

1-2087A ~ o

\ =

1-2056 SEE ANCHORING NOTES §

dl / #8 x 172" TEK SCREWS ]

Nl @ 18" 0.C.: EACH SIDE:
UP OF FLOOR EXPANDER (1~2056) N (2) @ EACH GANGING 1
(EXTEND 1/2° BEYOND '
DECK FOR WOOD DECKS) FN —~<——3/4" PLYWOOD OR OSB SUBFLOOR

Sec2\HEADER OVER 'TRANS M OVER WINDOW OVER

3

GLASS KNEEWALL ON WOOD DECK

eé EE
S HS
ool =
75 -
BEE E
ol
E2
e
£ g
3 ffeat
Egs Baguze
gazé g Esa
ogaRy 2EEySE
i i
odeed slivei
222
= 2
Sz
Zoa
= O
» W g;
[

SHEET ) OF

KNEEWALL ON WOOD DECK



ANCHORING NOTES;

{2) 3/8" DIAM. x 3" WEDGE-BOLTS

[1s] ONC| OUNDATION;
1/4" x 1=1/4" LONG ZAMAC NAILUN
ANCHORS STAGGERED @ 18™ 0.C. ALONG
FLOOR EXPANDER

TEWMPERED GLASS

“1=-01028

- . x 1/2° TEK SCREWS
1-2086; FLUSH WITH EDGE 9 Aﬂc AT DOOR SILLS,

ﬂ
OF CONGRETE FOUNDATION P. N. (2) IN AND

outT @ EACI'I GANGING

SLOPE GRADE AWAY

FROM FOUNDATION 1. -

NEW OR MODIFIED EXISTING
CONCRETE SLAB, TO MEET
LOCAL BUNLDING CODE

SEE ANCHORING NOTES

MIN. 3000 PS| CONCRETE

/ 3\ SLIDING GLASS DOOR SILL ON CONCRETE FOUNDATION

{2)-§8 x 1/2" TEK SCREWS
© 4 0.C. MAX, TOP & BOTTOM
& @ EAGH END

3" OR 6 ROOF PANEL
(3° SHOWN)

#8 x 1/2° TEK
SCREWS STAGGERED
8 16" 0.C.

#3 x 1/2° TEK [}

FEB 0 & 2d12

RTIITTTIN

SCREWS; IN & OUT
@ 18" 0.C, AND
© EACH END OF

PANEL CAP {1~2035)

|
somany

X \— 1-0121 ,f
\ .
\ \ £8 x 1/2° TEK Screw
@ 18" q, c P,

! TEMPERED' cuss

1-2035
1-2073

ATTACH H SUPPOR’T (1—-2080A)

—TIWITH §8°x 172" TEK SCREWS

1~0121 THROUGH -EACH SIDE OF WALL

EXPANDER (1-D203) AT HOUSE

1=207. AND WITH HD 2 1/2" ANGLE

{2) #8 x 1/2° TEK BRACKET {1-2083) AT A-B OR
SCREWS ON EACH SIDE
AT EACH GANGING
LOCATION, AND (1)

.||B=C "CORHER POST (1-20784)
SCREW ON EACH SIDE

& (4)\§8 x 1" TEK SCREWS;
AT 1B™ 0.C. ALOKG H

SEE nmul. (u 6/5) oN
SHEET 5

(1—2080A) LOCATE (1)

SCREW ON EACH SIDE

OF H FOR WALL
EXPANDER (1-0203 /
CONKECTION TO EXISTIN:

— #8 1\1/2' TEK SCREW
e16"'0.c., TYP.

GLASS WING WALL HEIGHT

TG Y EFRaAALD

700 E, HIGHLAND ROAD

MACEDONIA; OHIO 44056

BUILDING o 12) g8 x 177 TEK
1520804 / \‘\_ CREWS THROUGH EACH SIDE

OF H (I—ZOBDA) INTO

&/

AT EACH GANGING LOCATION.
1-0101C X
#10 x 2" TEK SCREWS AT
18° 0.C. AND AT EACH END
OF MASTER FRAME HEADS
{1-0101¢)

GANGING POST "(1—2082)
OR WALL POST (1-2042)

+

TEMPERED GLASS =] |

1-01054

/&Ecd GLASS WING OVER
\.4_/ SLIDING GLASS DOOR

~=ROLLING DOOR FRAME HEIGHT =

TS DRAFE 55 1 FROPERTY OF GREAT i

BPROVINENTS, LS AL MGHTY ROGSOVID.

PERUTTED KITHOUT THVE DRSS WRTTEN COMBOn
OF PATO ENCLOSURES.

DUFLIGATION OF THIS DRAWKO DV AHY FORY & mIT
THE STAHDMD PLAKS, ELIVATIMS, SECTRRS &
DETALS COMTAREED HEREM ARE B4 ADCORTARCE WM
DOVEKL X9 SUEUITTAL FOR SPEQIC FROZLTIONS,
KT WITHS & WAL HEHTS.

STANDARD
AVR DETAILS

SHEET

4 o 11




ll ; \‘-

' RN L_ROOF TIE_DOWN KIT (07187]
#8 x 1" TEK SCREWS 1-2081 {04210) PLASTIC CAP I&%ﬂ%ﬁﬂwﬂ
@ TOP, BOTTOM, 1/3rd UP 1-0104 Eg;g;“s; ;Vﬁ’%fo; FIEESLQ,II;NC :’/LQTE?'LAT WASHER WOOD FRAMED /smumnzs a;ﬁ wooGiL :nm]zlg WITH BRICK
— - 0. x "~ VENEER USE 1/4—INCH DIAMETER AN LAGS &
& 1/3rd DOWN, BOTH SIDES D ;I’EMPERED GLASS {00309) 1/4" x 5° xauzzk SD TEK SCREW W/ CLIMASEAL [WASHERS PROVIDING A MININUM 1-1/2=INCH_EMBEDMENT
_ ROOF TIE DOWN KIT (04210) PLASTIC CAP ~ BELOW. FOR BLOCK uasom;'r. BLOCK VTl BRIGK. FACING,
£ 3 YA P 3" IN FROM END OF {04211) WASHER — STEEL, 2INC PLATED 0R CONCRETE, USE 1/4-INCH DIAMETER TAFCON LE
1 i HEADER SUPPORT {05856) 2-1/270D x 0.39%ID x 1/8" FLAT WASHER FASTENERS PROVIDING 1—3/4—NCH CMBEDMENT (NTO
- 7 (1—2080A) ON \0 {00310) 1/4" x 7* BLAZER SD TEK SCREW W/ CLIMASEAL |MASCHRY OR CONCRETE AT ALL LOCATIONS NOTED BILGW.
S W 3 »
A NON-BEARING W, LOCATE ‘(2) FASTENERS NEAR FLOOR LEVEL, (2) AT
‘J D L1._ D105C ALL {04210) PLASTIC CaP xn::wus.)nn RAILING HEIGHT, (2) AT TRANSOM, &
1-010 .t - " " {04211) WASHER — STEEL. ZING PLATED (2) NEAR HEADER MEIGHT. INSTALL SINGLE FASTENERS
——1-2056 @ FLOOR 3%, 4-5/8" OR 6 (05856) 2~1,/2"0D x 0.38°ID x 1/8° FLAT WASHER LOCATED AT 36" 0.C. VERTICALLY AND STAGGERED ALONG
1-0103 At 049 ROOF PANEL | (00311) 1/4% x 6" LAZER SD TEK SCREW W,/ CLIMASEAL [THE EXPANDER HEIGHT BETWEEN DOUBLE FASTENER
v |—— T " [FOR_MONREARING WALLS:
—— MASTER FRAME WIDTH =— MASTER FRAME WIDTH i (4) #10 x 3/4" SELF DRILLING LoCATE (2) FASTENERS NEAR FLOOR, {2) AT KNECWALL
SEE WALL POST al. ¢ #8 x 1/2" TEK SCRE 4 Py SCREWS, THROUGH HD 2-1/2" [oR RAEI.I)NG HEIGHT, {2) AT TRANSOM Htllmsll'r.‘&)sa’:m ‘=:.’
EXTERIOR SIDE = M, & (2) NEAR TOP END OF EXPANDER. IN 1
ANCHORAGE DETAIL #20 7 7 TI':EOZ%(;,}; HESIRJES :SEI;SRT ANGLE BRACKET (1-2083) ASTENERS LOCATED AT 15" D.C. VERTICALLY AND o
ON SHEET 11 / (1( ZOBOA)A%NTO Ho CORNg INTO CORNER POST (1~2078A) STAGGERED ALONG THE EXPANGER HEIGHT BETWEEN =2
/8 \WALL POST .@7 GANGING POST (1-2078A) & MASTER PROVIDE (2) LAGS WiTH WASHERS 5
\5/ PLAN VIEW FRAME JAMB (1-0103B), AND THROUGH WALL EXPANDER (1-0203) AT  |Z|a)y
(2) SCREWS FROM OUTSIDE FACE LOCATIONS NOTED ABOVE, AND (1) LAG al5|2
(2) #8 x 1/2" TEK SCREWS &' 0.C. MAX., — ND (2) FROM INSIDE FACE OF WALL WITH WASHER AT 16 0.C. STAGGERED
TYP. TOP & BOTTOM & © EACH END AS NOTED g o
3", 4-5/8" OR 6" ROOF_[%™: #8 x 1/2" TEK SCREWS THROUGH & g8
PANEL (3" SHOWN) | WALL EXPANDER {1-0203) INTO ] & 23
#8 x 1/2° TEK SCREWS @ 18° 0. e 1-0238A H SUPPORT (1-2080A); EACH SIDE = I ™
AND AT EACH END, & © GANGINGS 1-0203 OQ E 35
=25 3.
#8 x 1/2° TEK SCREWS; IN =208 HoTORES As' Shan o ot BalE =
AND OUY @ 18° O.C. AND @ 1-D214A =18 <8
EACH £ o AL Chm {1 S - INSIDE WALL EXPANDER (1-0203) ot Ei o
P 3° FOAM WING WALL SVERAANG | 3—2003; WHEN SPECIFIED BY & Ri
Z P.E.l. ENGINEERING z
P . GANGING POST (1-2082) NESTED IN
) (2 %‘N ‘E;é‘z IT%.-K %_cgwa N o WALL EXPANDER( (1-020)3) SUPPORTS Bg E.d
g GANGING wc;lgN ‘:ND °1 TR g 1-20794 H SUPPORT (1-2080A) OR HEADER %Ea - gg
SOREW Onl EAH SIbE AT 185,77 - [ 1-2078A SUPPORT (172075 g é E = gg
e 1205t VL (aB,__H_SUPPORT CONNECTION AT___ [:E5§ Sigge:
SIDELOOC;TE po)a sgg&wég:ﬁg: WCORNER POST & WALL EXPANDER E aE _g,gsa—.e‘.-d:
EXP 1—-2080A " BE 2
(1-0203) CONNECTION TO N (2) #8 x 1/2" TEK SCREWS THROUGH FLOOR |R&yo E Y E
EXISTING BUILDING | EXPANDER (1—2056) INTO HD CORNER POST gaEE g
#10 x 2* TEK (1—20784) FROM OUTSIDE AND INSIDE FACE agghy gg gﬁg
l 8-2003; 6" FOR WALLS UP 7O 12' SCREWS AT 18" AV OF WALL. TYP. AT SIDE OF POST PEL 33.3_ %5
z PROJECTION; FULL LENGTH FOR EA%HAE‘:DAJF 3/8" DIAM. x 3 1/2* LONG GALVANIZED 2gnsg Ha3 g
o WALLS OVER 12° PROJECTION VIASTER. FRAME ra— LAG PER BRACKET FOR WOOD DECK & BE. gég E
T (CONTACT P.E.l. ENGINEERING FOR HEADS (1~0101C) %o O 3/8" DIAM. x 3" LONG WEDGE-EOLT
L SPECIAL LENGTH REQUIREMENTS) PER BRACKET (1-2083) FOR CONCRETE
F . (6) 10 x 3/4" SELF DRILLING - FOUNDATION. TOTAL (2) ANCHORS REQUIRED 1w
& (2) #8 x 1/27 TEK SCREWS, THROUGH HD 2-1/2 a 0 < )
SCREWS THROUGH EACH SIDE 1-0107A y o <
& OF W (1-2080A). INTO ANGLE BRACKET (1-2083) INTO g 5 2083 X
3 ‘ 1-0101C CORNER POST (1-2078A) L <l <T
a GANGING POST (1-2082) ) o - a Z -
o OR WALL POST (1-2043) Z b o = W w
23 AT EACH GANGING LOCATION. [ | ul = — (4) #10 x 3/4" SELF DRILLING < 0o QN
R @ \ SCREWS THROUGH EACH HD 2-1/2" — O
T . 1-01054 NON-BEATING WALL ANGLE BRACKET (1-2083) INTO o L g
- CORNER POST (1-2078A)
FOAM WING OVER (04
@ i S oo /7C\WOOD & CONCRETE FOUNDATION_ ANCHORAGE <
-G COR
SLIDING GLASS DOOR \5_/ @ CORNER POST & FLOOR EXPANDERS ]




1-2074 #8 x 1/2" TEK SCREWS; TEMPERED GLASS
BOTH SIDES AT PANEL CAP (1-2035) / 1-01038
TEMPERED GLASS AND H SUPPORT (1-208DA) ‘ 1-0104 f? ‘
_\ 3 NOMINAL o T #8 x 17 {TEK SCREWS, @ TOP &
w2 BOTTOM; {1/3rd UP & 1/3rd DOWN S
| THICKNESS by X s
FOAM WING A 1 (2) #8 x 1/2" TEK SCREWS THROUGH FLOOR H
i PANEL EXPANDER (1=2056) INTO HD CORNER POST $g
1-0121: s {1-2078A) FROM OUTSIDE AND INSIDE FACE By
CONTINUOUS & e OF WALLL'TYP. AT EACH SIDE OF POST BN
Y o [V - ‘" -
#8 x 1/2° TEK SCREWS _/ EXTERIQR SIDE \1-2°3°A= 5 - - ! LELAND' INDUSTRIES GP FASTENERS; ) */V
" CONTINUOUS a = LELAND GP ! ;
@ TOP, BOTTOM & 16" O.C. . . g | & FASTENER] ~ géivfuéﬂﬁ%cﬁ“%cﬁ%&:?i “:l;tl gt‘?ﬂﬁ
ﬁh PLAN VIEW OF GLASS & e i| * |ALONG FLOOR EXPANDERS (1-2056), TYP. R
3 ; 1-2078A ] e 3
6 ' ° Sneifnd 3" NOMINAL THICKNESS ]
\&/  FOAM' WING PANEL ] 5 NoMNAL THE £
.Y
N | 1-20814 — oo 6L g8 X 1/2% TEK SCREWS >°£_ -
\ } = ——==k= , SPACED @ 18" O.C. TYP. g
" —2D. = 7l ' glsla
EDGE OF FLOOR 3-3\{4':5525:6& Y b 1-208 BEARING B-WALL “\—1-2056 HHE
. 1—-0501, WHEN SPECIFIED BY 43747 - | slaa
(1-2056) LIP _ _ I \_P.E.l. ENGINEERING —— /47— EXTERIOR SIDE 5
; Fiog bafz oo fos T, K o
3" FROM TOP\&' BOTTOM ] . ae
BET & MAX. 19=1/2% SPACING & MAX. 19-1/2" SPACING Vsece\ PLAN VIEW OF A—B CORNER g =3
SEa \ h—1~2022 OR 1-0201: WHEN 5 8 2e
Ll v - - H =
"53 \‘.l " SPECIFIED BY P.E.). ENGINEERING \_/ ON DE!CK FOUNDATION E ;5
l HIGH_WIND_MEETING 'RAIL, 2 4 J . o G
iNFORCING It [ %E’TOEOPWEQES ] DECK_FOUNDATIONS SUPPORTING ENCLOSURES MUST TR -
CONTACT P /e, g % BOTTOM: INCLUDE ADEQUATELY SIZED SUPPORT POSTS ON E W
1-2048 vl gt : / CONCRETE PIER FOOTINGS  PROFERLY SIZED AND LOCATED 2 on
— A\ I . e e AT ENCLOSURE GANGINGS, CORNERS, RIDGE SUPPORTS, & e
) / AND ALL REQUIRED DECK SUPFORTS. DECK LEOGER B =
5 CONNECTION TO EXISTING HOUSE MUST FROVIDE ]
\\, / REQUIRED LOAD CAPACITY, OR A CARRIER BEAM MAY BE
x Ly —o108e REQUIRED AT THE HOUSE WALL A MINIMUM OF gEB Edo
5 1-2051 \ 4~INCHES SPACE BETWEEN BOTTOM OF JOISTS AND TOP £ e
= . OF GRADE MUST BE PROVIDED. 5 Z=
w — 1-2053 LOCATE 2-3/4% BACK FROM ~. CONCRETE _FOUNDATION SUPPORTING ENCLOSURES MUST EESE 5 8
E ) IP OF FLOOR EXPAMDER ~ INCLUDE A CONTINUOUS CONCRETE PERIMETER TRENCH B8 3% ]
4 K T"2°55 {1—-2056) AS SHOWN ON FOOTING OF ADEQUATE WIDTH AND DEPTH TO PROPERLY 4] g=gtad
brr - 1 CONCRETE FOUNDATION, TYP. ~ SUPPORT IMPOSED LOADS AND PROVIDE PROTECTION FROM Egé LYRE2.
? ] \ #8 x 1/2" TEK " : ~. FROST HEAVE. %ES EE gg
a b SCREWS EACH siDE/ |° o (2) #8x1° TEK SCREWS; e g
- 2 ' BOTH SIDES E—0026: WHEN spr:cmsn\[ LOCATIONS OF CLIPS WILL VARY FOR WOOD AND 3 gg S
g = {1) #8 x 1" TEK SCREW ; 4 CONCRETE CONNECTIONS. ggsg g
z , - BY P.E.. ENGINEERING ("] g4Ewy 95
u © TOP & BOTIOM; A /3rd . . - : g
<] i UP & 1/3rd DOWN °, /8" DIAM. x 3° WEDGE-BOLTS /] 57 ATTACHING SUNRDOM WALL EXPANDER TG S£g 23
A —-010: EXISTING STRUCTURE: ;
P 710104 v :5 WOOD FRAMED STRUCTURES & WOOD FRAMING WITH BRICK VENEER d8sEE ERREH
wn’ USE 1/4—-iNCH DIAMETER GALVANIZED LAGS & WASHERS PROVIDING A
- P MINIMUM 1—-1/2~INCH EMBEDMENT INTO WOOD FRAMING OR WOOD
4=-3/4 - S 1-2082 |BLOCKING INSTALLED AND HAILED TO WOOD FRAMING AT ALL LOCATIONS -
L 2__3/4- S 3 1/2- HOTED BELOW. FOR BLOCK ‘MASONRY, BLOCK WITH BRICK FACING, OR D q _l
i |4 # % CONCRETE, USE 1/4—INCH DIAMETER TAPCON LE FASTENERS PROVIDING —
- "/ TEK SCREWS ‘| 1=3/4={NCH EMBEDMENT INTO MASONRY OR CONCRETE AT ALL LOCATIONS m l_ z
= t —Z/o TOP & BOTTOM; |NOTED BELOW. e P
_/ / / _1/ _/ A /._/1'/3“’ UP & 1/3rd||qcatE [2) FASTENERS REAR FLOOR LEVEL, (2) AT KNEEWALL OR RAIUNG i ] w1y
1-20B1A 1-2078, s [ 1-p1o4~" 1-0103B _/ 1—-0108C 1-010 %% DOWN HEIGHT, {2} AT TRANSOM, & (2) NEAR HEADER HEIGHT. INSTALL SINGLE =
&4 1-2082: 1-0106C 7 FASTENERS LOCATED AT 16" O.C. VERTICALLY AND STAGGERED. ALONG g o e
N 3/4 - '4 THE EXPANDER HEIGHT BETWEEN DODUBLE FASTENER LOCATIONS TYPICAL '_ a
e 4-3/4 "t H—e] EQR_NONBEARING WALLS:
IASTER FRAME WiDT ROLLING DOOR WIDTH / g;;?rg T%)m FASTEMERS NE(AI; FLOOR, (2() )A'I' KKEEWALL R wuuups A::}l:gm. vy ﬂ>:
- SOM HEIGHT, (2) AT H, & (2) NEAR TOF END COF ,
— #8 x 1/2° TEK SCREWS (1) INSTALL SINGLE FASTEKERS LOCATED AT 167 0.C. VERTICALLY AND STAGGERED 12
Sec\PLAN VIEW OF B—C CORNER EXTERIOR SIDE ~&’rop ‘sorrom 1/3rd UP PR Ay L O A L R b 5 <
1]

\.6/ ON CONCRETE FOUNDATION Mot BRARING C=WALL & /519 nown, BOTH sios

sueer O oF




SUNROOM DETAILS

EXTERIOR_SIDE #8 x 1/2° TEK SCREWS @

END OF HANGER (1-0210)

I-BEAM STIFFENER STRAP (8-0051), 4 REQ'D AND FASCIA (1-0238A)

PER GLASS ROOF PANEL; EACH AT FARTHEST INCLUDE AT 1/3 POINTS

(4) #8 x 1™ TEK SCREWS EDGE FROM SUPPORT: TOP AND BOTTOM BETWEEN (4' 0.C. MAX.)

. ON EACH CORNER AT TOP {EITHER SIDE OF 1-BEAM (1—-02178)
(2) #8 x 1/2° TEK ACCEPTABLE, USED WITH 3® ROOF ONLY)

SCREWS PER STRAP

(FOR 3™ ROOF ONLY)

#8 x 1/2" TEK SCREWS @

END OF HANGER (1-0210) -
AND FASCIA (1-023BA)y—1.

INCLUDE AT 1/3 POINTS &)

ROOF PANEL AVAILABLE IN
3°, 4-5/8", AND 6"
(3" SHOWN)

0.024" 3105-H174 ALUM.
l‘ SKIN; TOP AND BOTTOM

/
ROOF PANEL AVAILABLE IN
1" TEMPERED INSULATED 3"..4-5/8" OR 6~ (3" SHOWN)

GLASS ROOF PANEL

1-0217B; AVAILABLE
Z—— IN 3%, 4-5/8", 6"
., (3" SHOWN)

1-0114

BETWEEN (4' 0.C. MAX.) T el o RICHR
3/8 DIAM. BACKER ROD; TYP. i s 5l &
i =
| | 1-0114 J o[t ful3]
ROOF PANEL WIDTH GLASS ROOF PANEL S ROOF PANEL WIDTH ROOF PANEL WIDTH ] 115 =
COLLO WIDTH 36" TYP. i (36" TYP.) (36" TYP.) NlE
/ HHEE
/6" DN, GALYANZED LAGS Wi (cid 3—INCH” FOAM PANEL ROOF CROSS SECTION :
WASHERS LOCATED AT REQUIRED \U </ ef 22
SPACING AND PROVIDING ADEQUATE 4z 8§
EMBEDMENT iNTO PROPER STRUCTURAL T
SUPPORT (SEE MOUNTING NOTE NEXT J 8 &=
TO DETAIL 15 ON SHEET 8) 1 o= E 33
H m a =] 94.
#8 x 1/2" TEK SCREWS THROUGH PANEL HANGER =1 P
g ALUMINUM. FLASHING (1-0210), I-BEAM (1-0217B) FLANGE; CONNECTING E% E i
4 1-0208 _—ROOF PANELS; (2) SCREWS AT EACH SIDE OF of
/’ 7" |-BEAM WEB, TYP. AT BOTH TOP .AND BOTTOM OF £ Rz
LA~ mn, 5 / ROCF, TOTAL (B) SCREWS PER I-BEAM (1-02178) z
v, My -
HL % 1" TEMPERED INSULATED GLASS ROOF PANEL /™ 7 Ee £
R / /1™ TEMPERED INSULATED é v * Eé
{ | SLASS ROOF PANEL 2 g g8:
i &g 8
(4) #8 x 1™ TEK SCREWS 1/4-20 TEK SCREWS @ sgﬁ ;25 53
HANG ONEACH CORNER AT TOP 367, 18" OR 127 0.C. AS . EEEE EHRBaY
s 1—0210 v SPECIFIED BY P.E. ENGINEERING: (€ 23ty
AL " (00303 FOR 3" AFA ROOF; gsa Besag
ROOF PANEL 1-0115 et : y 00310 FOR 4-5/8" AFA ROOF; gda g -gis
AVAILABLE | 00311 FOR 6" AFA ROOF) §g§gg g g8
3", 4-5/B", AND 6" 2 g
/(3“ SHOWN) Clasg Roop s _ . ?8) x 1/2" TEK SCREWS Ede “Hg é
Wip B4 P/ . 2) ON ONE SIDE OF EACH
#8 x1” TEK TH_ 3o VEL Sy BEsEE #EREH

T A 1-BEAM (1-0217B) INTO
- : - HEADER ARM (1-02144)

b

(1) @ EACH CORNE

1-0115

1~0115
1-0238A

—————,

#8 x 1/2" TEK SCREWS, (2) AT EACH

STANDARD
RESIDENTIAL
=| AVR DETAILS

LN ROLLED EDGE OF ALUMINUM 1-BEAM (1-0217B), (1} AT EACH END
CLAD FOAM PANEL OF HEADER SUPFORT (1—2079A)
feeny _FOAM PANEL ROOF 1—0214A

\7/ LONGITUDINAL SECTION 1-2078A

SHEET § OF




SUNROOM DETAILS

ATTACHING SUNROCM_WALL EXPANDER TO

WOOD FRAMED STRUCTURES & WODD FRAMING WITH BRICK VEREER

USE 1/4=INCH DIAMETER GALYAWIZED LAGS & WASHERS PROVIDING A
MINIMUM 1:-1/2—INCH EMBEDMENT INTO WODOD FRAMING OR WOQD
BLOCKING [NSTALLED AND NAILED TO WOOD FRAMING AT ALL LOCATIONS
KOTED BELOW. FOR BLOCK MASONRY, BLOCK WITH BRICK FACING, OR

/// //R &,

é éEX]STlN T/ 2’225

CONCRETE, USE 1/4—INGH DIAMETER TAPCON LE FASTENERS PROVIDING ' Y
1—3/4~INCH EMBEDMENT INTO MASONRY OR CONCKETE AT ALL LOCATIO - WALL EXPANDER (1-0203})
NOTE/D BELOW. NS \—'0 EXISTING STRUCTURE
DEARING WALLS: {REMOVE SIDING)
LOCATE (2) FASTENERS NEAR FLODR LEVEL, (2) AT KNEEWALL OR RAILNG
HEIGHT, (2) AT TRANSOM, & (2) NEAR HEADER HEIGHT, INSTALL SINGLE 1-2082
' FASTENERS LOCATED AT 16 O.C. VERTICALLY AND STAGGERED ALONG 1-01038
{ i THE EXPANDER HEIGHT BETWEEN DOUBLE FASTENER LOCATIONS TYPICAL. o
FOR EXISTING WOOD STRUCTURES; FOR _HQNBEARING WALLS: 1=-0104

FROVIDE SQUD WOODD BLOCKING
AT EXISTING WALL AS REQUIRED
AIN. 1-1/2" EMBEDMENT INTO
STRUCTURAL FRAMING
/ALL EXPANDER (1-0203) MOUNTING TO EXISTING STRUCTURES: REMOVE EXISTING
\G‘EXISTING STRUCTURE SIDING AND ANY COMPRESSIBLE SHEATHING AT CONNECTION

(REMOVEJSIDING) POINTS OF ENCLOSURE TO HOUSE. LAGS MUST BE .

) SECURELY ANCHORED TO STRUCTURAL FRAMING OR INSTALL N

#B xu/z TEK SCREWS @ BLOCKING SECURELY' FASTENED TO STRUCTURAL FRAMING TO
TOR, AND BOTTOM, BOTH SIDES PROVIDE MINIMUM 1—1/2" EMBEDMENT FOR MOUNTING
3" FOAM WING PANEL

FASTENERS.
mPLAN' VI\E\W OF FOAM_WING PANEL /14\PLAN VIEW OF ROLLING DOOR
\8/ :+AT BXISTING STRUCTURE \8/ AT EXISTING STRUCTURE

r
/ 4 EXISTING ROOF =

LOCATE (2) FASTENERS NEAR FLOOR, (zz AT KNEEWALL OR RAILUNG HEIGHT,
(2) AT TRANSOM HEIGHT, .(2) AT H, & (2Z) NEAR TOP END OF EXPANDER.

INSTALL SINGLE FASTENERS LOCATED AT 16~ 0.C. VERTICALLY AND STAGGERED
ALONG THE EXPANDER MEIGHT BETWEEN DOUBLE FASTENER LOCATIONS TYPICAL.

ga x 1/2™ TEK SCREWS
© TOP, BOTTOM, 1/3rd
UP & 1/3rd DOWN

— TEMPERED GLASS

09-17-03

NTS

ROLLING DOOR WIDTH_I
VERSION: EA(10/25/10,

DRAWN BY: VNG

DATE:
SCALE:

"INTING HOQTE:/THE QUANTITY
«.t SIZE OF ‘FASTENERS REQUIRED

WITH MDRE LAGS ADEQUATELY
FASTENED TO THE EXISTING
STRUCTURE, OR A SUPPORT BEAM
MOUNTED ON SUPPORT POSTS AT
THE FACE OF THE EXISTING
STRUCTURE MAY BE REQUIRED
UNDER HEAVY LOADS. CONSULT
P.E.l. ENGINEERING DR A LOCAL
DESIGN PROFESSIONAL FOR JOB
SPECIFIC REQUIREMENTS.

VARIES BY APPLICATION. A LEDGER

I MIN. 3/8" DIAM. GALVANIZED LAGS W/

WASHERS LOCATED © REQUIRED SPACING
& PROVIDING ADEQUATE EMBEDMENT
INTO PROPER STRUCTURAL SUPPORT

EXISTING STRUCTURE

REMOVE SIDING AT
TAB/HANGER ATTACHMENT

ALUMINUM FLASHING .

#8 x 1/2° TEK SCREWS THROUGH PANEL
HANGER (1-0210), I-BEAM (1-02178)
FLANGE; CONMECTING ROOF PANELS; (2)

SCREWS AT EACH SIDE OF |-BEAM WEB,
TYP. AT BOTH TOP AND BOTTOM OF ROOF,
TOTAL (B) SCREWS PER 1-BEAM (1-02178

3", 4-5/8% 3R 6" ROOF PANEL
(3" sHOWN)

SHINGLES

SHEATHING

EXISTING RAFTER X
_.__.(sm: AND SPACING)
% VARIES)

- /\\ .

["[~———EXISTING

BEARING WALL
~
= LOOKOUTS

. AS REQUIRED

i PER ENGIMEERING

5 ANALYSIS
THIS MOUNTING METHDD MAY REQUIRE
LOOKOUTS ADDED DR ADDITIONAL REINFORCEMENT
NOTE:| avp/or FASTENERS AT EACH RAFTER LOCATION.

L 1-0210 EXISTING STRUCTURE MUST BE EVALUATED FOR
m TAB AND HANGER ASSEMBLY STRUCTURAL SUITABILITY BY LICENSED ENGINEER.
\8/ (WALL MOUNT) /16 TAB AND HANGER ASSEMBLY

\8/ (FASCIA MOUNT)

0
ENCLOSURES, INC.

AN EMPLOYEE OWNED COMPANY

720 E. HIGHLAND ROAD

MACEDONIA, OHIO 44056

ERCICSURES, INC, ALL RIGETS RESERVED, DUFLICATION

OF 105 DRAWING BN ANY FORU IS NOT PERMITTED
WITHOUT THE DXFRESSED WRITTEN CONSINT OF PATR
ENCLOSURES, NC,

DETALS CONTAMED HEREM ARE N ACCORDAKZE WITH
INSTALLATION FROCEDURES - ESTASLISHED BY PATID
ENCICSURES INC, AND ARE FOR GENERAL REFERENCE,
SIE DOEVIOUIAL JOB SUBUTITAL FOR SPEQFT
FROJICTIONS, T WIDTHS & WALL HEWGHTS.

THIS DRAWHG IS THE PROPERTY OF PATIO
THE STANDARD PLANS, ELEVATIONS, SECTIONS &

STANDARD
RESIDENTIAL
AVR DETAILS

SHEET 8 oF




dx4 POST WITH REQUIRED NOTCHING SHOWN. SUNRCOM_DETAILS ‘

GALVANIZED LAG WITH WASHER
EACH SIDE OF RIDGE POST

ON WOOD FOUNDATIONS

NOTE: LOCATE LAGS/BOLTS IN HOLE
CLOSEST TO INTERIOR OF

ROOM TYPICAL

SEE GENERAL NOTES ON SHEET 1 FOR FOR 4x6 AND 6x56 POST, STOP FLOOR ANCHORING NOTE: 8-0081

REQUIREMENTS FOR PRESSURE TREATED EXPANDER (1-2056) ON EACH SIDE OF FOR_WO0OD USE; MIN. (2) 3/8° DIAM.

LUMBER AND FASTENERS, RIDGE POST x 3-1/2" LONG GALVANIZED LAGS P 12002 W/ 2-1/2" x
(2)—#10 x 2" TEK SCREWS NOTCH BOTTOM OF RIDGE POST TO gjﬂrlN- 1;;{2}:“”552;*5” INTO o »/ 2-1/2" x 3/16"

CLEAR WEEP SHELF & FLOOR EXPANDER RUCTURAL FRAMI Do
THROUGH INTERIOR FACE OF 7 / .
FLOOR EXPANDER (1—2056) (1-2056) SIDEWALL (4x4 POST ONLY) FOR_CONCRETE USE; {_f’ //////// STEEL TUBE (8-0091)
INTO RIDGE POST REMOVE INTERIOR LIP OF FLOOR (2) 3/8" DIAM. x 3° WEDGE-BOLT; / (LENGTH OF STEEL TUBE
EXPANDER (1-2056) AT POST LOCATION 7 INSERT TO BE EXACTLY )

3/8" DIAM. x 3-1/2" LONG . . <=1 SAME AS AV UTILITY POST
(! x 31/, 3/8" DIAM. x 3" WEDGE-BOLT; / L1

TYP. EACH SIDE OF RIDGE POST ON
CONCRETE FOUNDATION

1-2053

(3) #10 x 1-1/4" TEKIr
] x -

2-1/2" ANGLE BRACKET SCREWS THROUGH WaLL -
(8—-2108A) EACH SIDE POST SUPPORT BRACKET:
OF RIDGE FOST (1-2053) INTO UTILITTY
FLOOR EXPANDER (1—2056) POST (1—2092). TYPICAL
LIP FLUSH WITH AT EACH SIDE
EDGE OF CONCRETE ON o L
CONCRETE FOUNDATION (2) #8,x 1/2

TEK“SCREWS
(2) #10 X 2" TEK SCREWS -

C9—17-03

FLYWOOD OR OSB
DECK SURFACE

1-2056

DRAWN BY: YNG
DATE:
SCALE:

TRUGRIP ANCHORS

© 18" 0.C. TYP. THROUGH FLOOR EXPANDER (1-2056) -
! STAGGE.II;YEF;) INTO RIDGE POST ’_,-' E 2§
ALUM. FLASHING (4)-§10 x 2" LONG TEK SCREWS AT EACH BRAC!SET/: TYPL {2) #8 x 1/2" TEK SCREWS r E 2%
f THROUGH FLOOR EXPANDER Zl: o
FLOOR EXPANDER (1—2056) UP - )
\ OVERHANGS wooncnunm) - 1-2056 (1-2056) INTO SIDEWALL LIPS ] E §g
\  BY 1/2" ON DECK FOUNDATIONS Of UTILITY POST (1-2092) :gﬁ 5 3.
@WOOD RIDGE POST ANCHORAGE @AV UTILITY POST/R[DGE POST ANCHORAGE U% g :§
(rw)
: o/ AT FLOOR EXPANDER g/ AT FLOOR EXPANDER =5 FR.-
: (CONCRETE FOUNDATION SHOWN) & ~3
{BOTH WODD DECK & CONCRETE FOUNDATION SHOWN) : g
(WODD POST SHALL BE PRESSURE TREATED
FOR CONCRETE FOUNDATION) SizE e R n o Ee Eu
MEMBERS AS SPECIFIED MIN. B/8°  DIAM. x 2-1/2 . LONG e 2 EE
oY e, ‘ENGINECRING GALVANIZED LAG W/WASHERS INTO & 28y
.E.l. RIDGE BEAM, (SPACING AS SPECIFIED Bg § BeE 55
ALUMINUM FLASHING BY P.E.. ENGINEERING) :E§ gzggﬁg
1-0209 =42 ==F
e somd 2 tn fyswe i e
gazg =
{2) #8 x 1/2° TEK SCREWS, gdzj g Esng
AT TOP & BOTTOM OF EACH uggg E g“%
I-BEAM ({1-0217B) CONNECTING £y §'§§ g
PANELS; BOTH 'SIDES OF ROOF Egg é g agggg
g BE EREEY

3%, 4-5/8" OR 6" ROOF PANEL—--" -

™ Tl L ALUMINUM FLASHING
(37 SHOWNY .-~ AS REQUIRED

/18 _WOOD RIDGE BEAM
\ 8/ WITH TAB ‘@ND HANGER

STANDARD
RESIDENTIAL
=| AVR DETAILS

sEeT QoF




(3)-§10x 1-1/4" TEK SCREWS
THROUGH RIDGE POST BRACKET INTO
RIDGE BEAM; EACH SIDE

{3) #10 x 2* TEK SCREWS
THROUGH RIDGE POST BRACKET
(8=2002) INTO RIDGE POST;
EACH SIDE

#10 x 2" TEK SCREWS; (2) @ TOP
& BOTTOM, AND STAGGERED @
12" 0.C.; TYP. AT EACH SIDE OF POST

b
=

1—-2044, TYP. AT EACH SIDE OF POST

S7ALY

MINUM RIDGE BEAM

USE MIN. 3/B" DIAM. x 2-1/2"
GALVANIZED LAGS W/WASHER:
INTO RIDGE BEAM; (SPACING AS
SPECIFIED BY P.E.L. ENGINEERING)

HANGER TAB (1-0209)
TYP. BOTH SIDES
B~2002 AT EACH
SIDE OF RIDGE POST N, (5) #10 x 2° TEK
SCREWS INTO RIDGE
P.P.T. 4xd, 4%6, 6X6 POST EACH SIDE
RIDGE POST TYP. AS SPECIFIED
(SIZE DETERMINED BY LOAD,

CONTACT P.E.l. ENGINEERING)

SUNROOM DETAILS

STRAP IS CONTINUOUS
(BEND OVER CORNERS
OF RIDGE BEAM)

PANEL HANGER (1-0210)
TYP. BOTH SIDES

WOOD RIDGE BEAM (SIZE AND
NUMBER OF MEMBERS PER P.E.L
ENGINEERING REQUIREMENTS)
MIN, (5) #10 x 2" TEK SCREWS
INTO EACH SIDE OF BEAM

abiil

K

PPT 4x4, 4x6,
&x6 RIDGE POST, TYP.

12" MIN. LAP LENGTH ON POST;
TYPICAL AT EACH SIDE OF POST

REQUEST P.E.l. ENGINEERING.

NOTE: HIGH WIND CONDITIONS MAY
REQUIRE ALTERNATE CONMECTIONS.

SEE GENERAL NOTES ON SHEET 1 FOR
REQUIREMENTS FOR PRESSURE TREATED
LUMBER AND FASTENERS.

6" ALUMINUM RIDGE BEAM (1-0218) ON WOOD POST

OR 8" ALUMINUM RIDGE BEAM (1-02289)
(MOTE: 6" ALUMINUM RIDGE BEAM

ACCEPTS 3" PANEL HANGER (1-0210)
ONLY, 8" ALUMINUM RIDGE BEAM ACCEPTS
3", 4-5/8" OR B” PANEL HANGER

IDGE BEAM TO RIDGE PQOS

WHEN USING EPA APPROVED PRESERVATIVE TREATED LUMBER AT
GANGINGS, FIRST ISOLATE WOOD POST FROM ALUMINUM BY WRAPPING
WITH EITHER OF THE FOLLOWING: 150LB ROOF FELT, OR 10 MIL PLASTIC
SHEETING PRIOR TO INSTALLATION OF ALUMINUM CLIPS OR TRIM COIL.
ALL FASTENERS IN DIRECT CONTACT WITH PRESERVATIVE TREATED
WOOD SHALL BE HOT—DIPPED GALVANIZED PER ASTM A153, OR
OTHER APPROVED PROTECTIVE COATING. TRIM COIL TO BE ATTACHED
TO ISOLATED WOOD POST USING STAINLESS 'STEEL TRIM NAILS.

{3)-§#10 x 3/4" SELF DRILLING 1

SCREWS THROUGH RIDGE POST
BRACKETS (8-2002) INTO
RIDGE BEAM; EACH SIDE

1-2044, TYPICAL: EACH SIDE:

MIN. (4) #8 x 1™ TEK SCREWS
THROUGH RIDGE POST BRACKETS
INTO UTILITY POST

I

e 8~2108A

1-2074 (WHEN

GLASS WING IS USED) "

#8 x 17 TEK SCREWS: 4

(2) @ TOP & BOTTOM, (1)
STAGGERED @ 12° ©0.C.;
TYP. AT EACH SIDE OF AV

.. WALL EXPANDER (1-0203)
W/LIP PEELED. FORMS CAP
FOR AV

B-2002 AT EACH
SIDE OF RIDGE POST

W/2.5* SOR x 3/16" STEEL
TUBE (B—0091) AS SPECIFIED

~0210 MIN. (5) §8 x 1/2* TEK SCREWS

THROUGH GABLE POST TIE DOWN
STRAP (8-0115) INTO AV
UTILITY POST (1-2002);

EACH SIDE

(2) #10 x 2° TEK SCREWS
THROUGH FOAM KNEEWALL TRIM
{1-2044) INTO RIDGE BEAM;-
EACH SIDE _

UTILITY POST (1-2092)

UTILITY POST {1-2092) .
¢8 x 17 TEK "SCREWS;
(2) @ TOP & BOTTOM, (1)
STAGGERED @ 12" O.C.;
TYP. AT EACH SIDE OF AV
UTILTY POST (1-2092)

P.E.I. ENGINEERING

UTILTY POST (1-2092)
1-2080A

ALUMINUM RIDGE BEAM

2—1/2" ANGLE BRACKET (8-2108A) FASTENED
WITH MIN. (4) #8 x 1/2° TEK SCREWS
THROUGH EACH LEG OF ANGLE BRACKET
INTO UTILITY POST {1-2092) AND
H=SUPPCRT {1—-2080A)

NOTE: HIGH WIND CONDITIONS MAY|
REQUIRE ALTERNATE CONNECTIONS;
REQUEST P.E.I. ENGINEERING

WOOD RIDGE BEAM
ON WOOD POST s 5/6" piam. x 2-1/2" 1.

CONNECTION  CALVANIZED LAGS W/WASHERS

v L INTO RIDGE BEAM STAGGERED
HANGER TAB (1:0208) AT OPPOSITE SIDES (SPACING
TYP. BOTH SIDES

AS SPECIFIED BY P.E..
ENGINEERING)

PANEL HANGER (1-0210)
TYP. BOTH SIDES

WOOD RIDGE BEAM (SIZE AND

8-0115

D>

NUMBER OF MEMBERS AS
SPECIFIED P.E.l. ENGINEERING)

USE {5)- $10 x 2" TEK
SCREWS THROUGH GABLE
POST TIE DOWN STRAP
{8-0115) INTO EACH SIDE

o

[~

WALL EXPANDER {1-0203)
—W/ LIP PEELED. FORMS CAP
FOR AV UTILUTY POST (1-2092)

AV UTILITY POST (1-2082)
W/ 2.5 SOR x 3/16" STEEL
TUBE (8-0091)

(LENGTH OF STEEL TUBE
INSERT TO BE SAME AS

AY UTILTY POST)

1-2044
TYP. AT EACH SIDE

WOOD RIDGE BEAM
ON UTILITY POST

ON UTILITY POST

@ ALUMINUM RIDGE BEAM TO RIDGE POST CONNECTION
10

e

S

= EERTTR
efilels| %55
>oz‘-g' ﬁﬂ‘o*'%r
g | ggad

a6l 2 T

HHEE S
E=] = %2
fré] S
ofl:
=
= Lb- 3
z
o ool
[T} -
5 .

B 2Bk
§§§§ g%gggﬁ
seaf fuie
1 Bggust
5,
g§§=ﬂ 9E42
T gﬁg g
Egg 23
BEsER ERLEH

- w
923
= <
e g
> W
<8 o
0

v W EE
r g

|

sueet | Qor H J




T = y SUNRUOM _DETAI

B8-2004; WHEN SPECIFIED 1~2049
BY P.E.l. ENGINEERING

(2) #8 x 1/2" TEK SCREWS THROUGH
FLOOR EXPANDER (1—2056€) INTO

ANCHORING . NOTES: LIPS OF WALL POST (1-2043)
FOR WOOD USE: MIN. (2) 3/8 DIAM.
%x 3-1/2" LONG GALVANIZED LAGS
WITH WASHERS

') #10 x 1-1/4"
. SCREWS THROUG
WALL POST SUPPORT
BRACKET (1-2053)\
INTO WALL POS

ANCHORS SAME
AS DETAIL 20
WEDGE-ROLTS
SHOWH

FOR CONCRETE USE: MIN. (2) 3/8% DIAM. x

3" WEDGE—BOLTS g
2) §8 x 1/2° IE & égig
SoSR e et LT
12053 WALL POST (1-2049) MOk AmGucH TLAOR A 223%
\ _ (2) #8 x 1/2° TEK SCREWS EXPANDER (1-2056) INTO 3] | ah8s
LY THROUGH FLODR EXPANDER (1-2056) L 1—2056 GANGING POST (1~2082) on|Z|i|3 E
\ INTO LIPS OF WALL POST (1 —2949) @WALL POST CONNECTION AT EXTERIOR AND ON INTERIOR |E|E|58 5<<E
- ; 11 _ {23\ GANGING POST CONNECTION 5 e
ARdeR, FLGOR EXPANDER 1-2056 N NON—BEARING WALL " T3 AT NON—BEARING WALL -LIEL
(172059 IO Wt POST (=204 MISCELLANEOUS ROOF DETAILS N.T.S 5 g
@WALL POST CONNECTION, DOUBLE 1-BEAMS s fodl? 3
11 AT BEARING WALL 2-3/4" WIDE FOAM PANEL . . -Ia g £
1/2" TEK SCREWS, @ HANGER, §8
G ogaizgy N [REAMS Fascis Locanen, & 1/5 POINTS BETWEEN =% § o8
e 1" TEK SCREWS HANGER AND FASCIA BUI_ NOT WORE THAN Ng
ON EACH CORNER AT TOP gisash %
; ' : £
1-0114 : 1—:&] ] = i EEB 'ggés
120784 T (2) #8 x 1/2" TEK 1" TEMPERED INSULATED— 3", 4-5/8° GR & ROOF\ ! g §§ Eg éag
SCREWS PER STRAP GLASS ROOF PANEL PANEL (3" SHOWN) = | Bgn gzg 83
LOCATE. SCREWS ON AEc1d, SHOWN WITH DOUBLE |—BEAM 3”.44-5/8" OR 6” ROOF i 2 fuazel
SCREW LINE OF i g g EE
HEADER SUPPORT - t \ ¢ 8-2111 w F I c ) RS i EZEE ggggﬁé
8-2004; WHEN SPECIFIED 3) §8 x 1/2" 4~20 x 5* HWH "BLAZER" SDS TEK SCREWS W/~ adghd Safd
BY P.E. ENGINEERING ok e chms;AL FINISH AND WASHERS (= FSSAM,Rdoé T ggay §'§§ g
THROUGH HEADER |  1/4-20 x 7" HWH "BLAZER® SDS TEK SCREWS W/ , 4 gg sgig
(2) g8 x 1/2"° TEK SUPPORT CLIMASEAL FINISH AND WASHERS (4-5/8"<FOAM ROOF) 4, | |EEsEE 2kBEH
SCREWS THROUGH (1-20794) INTO 1/4=20 x B8° HWH "BLAZER™ SD5"TEK SCREWS W/ :
HEADER SUPPORT . WALL POST CLIMASEAL FINISH AND_WASHERS- (6" FDAM RODF) :
{1-2079A) INTO (1-2049) (SPACING..PER HIGH WIND REQUIREMENTS) =1 wn
LIPS OF WALL POST,.” " CONTACT P.E.l. ENGINEERING [ E < 1
(1-2049) 1-2040 1-02148—0) _ - eo0F ONLY < ‘E I<—I
/2\HEADER SUPPORT TO WALL POST 80051 FOR 5 ROOF © TR
N ,W CONNECTION AT BEARING WALL 1-20794 ~ ovz‘n%unil 1-0238A |<_[ % a
AEc\HIGH WIND FASTENING B b x
\_7_/ AT HEADER SUPPORT X o
I

seeT || oF




